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Q2 (6 pts) Company ABS Is a chain of electronic stores that sells 10 different types of elgﬂronlc accessorles with
{dentlcal unlt cost and selling price. Given the following data:
Description Amount (5} Description Amount B
Cost of electronic unit (V) 195 Salaries (F) $ 260,000
Sales commission (V) 5% sales Advertlsing (F) $ 100,000
Selling price (V) 30 Quantity sold 35,000 units
—
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Q3 4 prs). Given the following information (1000 §) about ABC Company. " o
'[ Direct material purchased 175 Direct material inventory Jan, 2021 j 31 |
\i Direct manufacturing labor 195 Work-In-process inventory Jan, 2021 | 49 Jj
Overhead costs = 35% conversion casts Finished goods inventory Jan, 2021 | 45
Prime costs 309 Costs of goods available for sale | 485 | g "-J
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Description Amount ($) Description Amount (§
Budgeted material costs 1000 Actual material casts —| 9

Budgeted labor costs 4000 Actual labor costs | (3600 7
Budgeted overhead costs 3000 Actual overhead costs 2500
Budgeted labor hours <200 Actual labar hours 180 ]

There was na work In process on Jan. 2021 and there were two lobsfbatches in process on Dec., 31, 2021.

Description BatchA | Batchp |
~_Direct material costs () 25 | 15 ]
Direct labor costs (5) 20 | 32 |
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{ Q5 [6 pts) Company ABS is a chain of electronic stores that sells 3 different types (A, B, C) of electronic accessories with
y contribution margin of $ 3, $ 2, and $ 1, respectively. The expected sales are_20,000, 100,000, and 80,000 units of A, B,
and C, respectively. The fixed costs= $ 255,000. Assuming the product mix is maintained, calculate:
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Q5 (6 pts) Company ABS Is a chaln of electronic stores that sells 3 different types (A, B, C) of electronic accessories with
contribution marginof$3,$2,and$ 1, respectively. The expected sales are 20,000, 100,000, and 80,000 units of A, B,
suming the product mix is maintained, calculate:

and C, respectively. The fixed costs= § 255,000.
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‘ A ABC company uses the Normal costing system for 2021 with two direct cost pools for material an
/ndirect cost pool and direct labor costs as the cost allncation hase. Ibvinﬂp—‘“-b'd-'1°'['""——‘"h°d
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Jentorles, The following Information was known about the firm for 2021.

/ " Description — Amount kr——oﬂ‘” otion Amount (5)
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/ __Budgeted labor costs 4000 Actual labor cOSS 3600
/ Budgeted overhead costs | 3000 | Actual overhead costs 2500 _____
B“”SMDPE’___I 200‘-__[ Actual laber hoirs"_]—lfo‘_-———-
There was no work In process on Jan, 2021 and there were two [obs/batches in process on Dec., 31, 2021
Direct material costs (5) 25 15
Direct labor costs (§) 20 32
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Q 2 (6 pts) Company ABS is a chain of .1pctronlgtng_!_hM1lj 10 different types of electronic utnm,

Identical unit cost and selling price. Given the following data:
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Df‘smpt on .‘\"nom": unt (5) | Description ) r)r_;mo
Cost of electronic unit (V) | 19 5 Salaries (F) 1 ;00 Cl('ﬂﬂ-_
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Q3 (4 pts). Given the following information (1000 §) about ABC Company,

Dlrecl’malerml purchased !_125 Direct materisl inventory Jan, 2021 |
| Direct manufacturing labor 1_ 195 Vork-In-process inventory Jan, 2021 -
Overhead costs = 35% conversion costs I Finished good mwmmm,T————l—-—‘
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Prime costs 309 | C Costs sts of goods available for sale —__‘—L—-f
Gross margin  percentage  based on| 25% Revenues — | 4
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Calculate for December 2021 the following:
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